= o
A 2 0l & A &2 & Al A
20208 &= =0lat LBl &3
SN 2B
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 23,191,896 18,410,715 4,781,181
= 4,675,148
< 1,428,938
Al 17,087,810
HIlI=2el 9,843,662 10,604,752 AT761,090
= 864,324
< 291,601
Al 8,687,737
MetH I 2Hel 7,872,061 9,860,906 A 1,988,845
= 151,804
< 164,151
Al 7,556,106
MYDISEH2S 242,570 242,386 184
201 et 215,936 219,661 A3,725
01 At 22l 24,080 27,805 23,725
OB =+=EH| 18,600
o FAXA MY II=017] 25 F&
1,875,000 1,875
o M&E=H & S BA+==+=8 650,000 650
oMl SEEI AHUHE HNH
223,600& 254 5,590
o & SEEE MU Y otHE MEAH
1,210,000& 1,210
o MeJ] SEEI MY 882 =% MH
56,000 300K 1,680
o MI| BYEI HE AEH M
1,000& *9300H 930
o Y, A2AM T 2LE EE=S HMH
1,910,000& 1,910
o MgJ| AASE ¥ SAHEF HII=S ER
2SS A EXE MZE 10,0003 47K & 470
o SAZSRF HII=2 24N 22 4,285
s 55,870& =400H 2,235
- oL E 930,000 930
-88 560,000& 560
- AEIA 560,000& 560
022+ 520
0o SASF HII=2 dtEI} ?ds =&
520,000& 520
O= &l 4,960
o =EHEE=2Ss =X 930,000& 930
o M) SEH FRFA 930,000& 930
o FHAXA MYIIE01I] 285 F&
190,000& 190
o HHIEAMAZE HRFA 930,000& 930




= A
N = 0 & AF & Y A
20209 &= 20l A L BESH BA
A
Jl S22l
S HII=2xel e ®H)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
0 SAZF HIsxH =X
1,460,000 1,460
0 SAZ® HII= Ot =X
520,000& 520
02 E2=2=2%H| 191,856 191,856 0
OZ2Z222L A 9,690,000& 9,690
OAl & & H KX Y| 1,806,000 1,806
OXgrdet] 180,360,000 180,360
202 04d| 3,634 3,825 A 191
01 2L I 3,634 3,825 A 191
OMYD| SEH gFFA 3,634,000 3,634
206 M 2 Hl 23,000 18,900 4,100
01 =4l 23,000 18,900 4,100
OSAEF HIIE2S2 EJZA 16,000
0 xHEE RU(DPHAU AX0OF E)
2,000,000& 2,000
o HEES ME(THIHE) 5,700
- 52| 40& *30, 0004 1,200
- 102l & 50«30, 0004 1,500
- 602l & 50& *30, 0004 1,500
- 12021 & 502 *30, 0004 1,500
o MANRE SAS ME88I 7Y
60,000 «80JH 4,800
o HEHIIS AlDEZ= AEIH MZE
350 «10,0000H 3,500
OoNMgEs=2els=HU 8=0tt 7,000& *1,0000H 7,000
58 SZN FA(2X) 5,724 12,000 16,276
o= 2,862
Al 2,862
201 et d| 5,724 12,000 NB,276
=} 2,862
Al 2,862
01 AP 2t 2| bl 5,724 12,000 NB,276
OLet=2d| 5,300
0 &0/ WEAIEE AKX 2L
5,300,000& 5,300
& 2,650
Al 2,650
OHEESE &80 HMdSEXNH 424 000& 424
o= 212
Al 212
MEMY I LN K AL 2,615,106 3,224,937 A 609,831
101 21 214| 299,705 220,102 79,603
03 I L2 NHE 165,280 165, 280 0




2N

=R 22
&l HII=Xel
CHH . SRA(SA) - ATAY - BES il
Ol =t 96,400
0 SAER HIIZ 40K 4= Y
50,0003 122 »23 1,200
o E&0Istd &= 150,000 702 *23| 21,000
o 0l Ht 60,0008 70 »23 8,400
o &&0Ist& OF2+x7) 40,0003 *70H »23 5,600
o 2A0IsA &et= 400,000& 70 =13 28,000
o &&0Ist& 2etst 200,000& 70 =12 14,000
o &&0Istd <9 70,000& 70 * 13 4,900
o &d0Istd €3X) 50,000& *x70& * 12 3,500
o &30Istd M= 140,000& 70 13l 9,800
O=&H| 26,880
o 0 S2XN =&l
8,000 «70H 42«12 = 26,880
O==H| 42,000
o #Z0IsE S=H|
5,000 «100H 70 « 128 42,000
04 JI1ZtHZ22 s+ 134,425
| PRSI I e T ZANRA 34,425
oJlEs 68,7203 x1&H»22L x12& 18,143
o =2(F222 8) ¥ 4UEEE
11,970,000& 11,970
o &3 4,311,870& 4,312
O=HMH & 52 A2 100,000
o R0 A 100,000, 000& 100,000
201 et 2| 249,950
01 AtR2t2lHl 9,770
OBt =8l 4,190
FaddE YRFA 1,860,000& 1,860
o EAXY dAE ¥ TMExE
1,300,000 1,300
o =EllEZE2S & 2 B =9
560,000& 560
o A2 BtAIts M| 2lE FUSE
4703 *1,0000H 470
O=&H| 4,740
o 8L PREFH 2,790,000& 2,790
o FXHIIE =HHMel FRFA
1,300,000& 1,300
o MgJ| SYHEI| Oof2teL PR
650,000& 650
{ DREN=1 840
o XHII=S +=HEH dX= 840,000& 840
02 3324l 236,180 236,180 0




S 23HD
M. HOIS2el
el MEHIISHR (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OZ2Z22Z2Y A 30,070,000& 30,070
O™ =l 5,010,000& 5,010
OAl& &Yl KXYl 9,000,000& 9,000
[ DPNE=FaR=las] 192,100,000 192,100
03 At L ] 4,000 4,000 0
OF0I3a SEUH 3 2,000,000& x13] 2,000
O30Ia& d=sUa 2,000,000& *13| 2,000
202 O B 4,061 4,275 N214
1 = LH 4 B 4,061 4,275 N214
MEtMY I HRFA 4,061,000& 4,061
206 M= Hl 198,390 140,530 57,860
01 & bl 198,390 140,530 57,860
OMYD REEE HE(HMMS+2A4323) 120,400
o 52l H 263 *50, 0000H 1,300
o 102| & 38& *50,0000H 1,900
o 202 & 63& *400,0000H 25,200
o0 202l (HAIEBEE) 70& =60, 0000H 4,200
o 502! & 138& *600, 0000H 82,800
o TR MaOlH HE 10& *500, 000 0H 5,000
OS2 MY D0 M (EH=) 11,600
o0 202 & 350& x20,0000H 7,000
o 502! & 4603 *10,0000H 4,600
oMY REESE HH(B2E) 21,550
o0 202l & 63& x50, 0000H 3,150
o 502! & 138& *100, 0000H 13,800
o D& &502I & 460& =10, 0000H 4,600
OZ30|13d £ 2 AKX 822 25,840
o EctAaE Y 6,000& 70 =24 840
o &g 600 *70H 202 il x12& 10,080
o EYXEE B (ES)
2CH*180,000& x12& 4,320
o EYUXEE BHH(ES)
2CH *250,000& *12& 6,000
o Hs2"Y =H0OIM H& 4603 =10, 0000H 4,600
O ZHEAY 28 2¢
1,000,000 195 = 19,000
301 et X = 23,000 900 22,100
06 212t01 = 2| (4 HI 20,000 0 20,000
OZYHII S ANE FOXNEAM |/ &
X ASt 20,000,000& 20,000
12 JIEtE &2 3,000 900 2,100




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEYESE) & 428 AOX Z&S3
3,000,000& 3,000
307 glz2tol & 1,320,000 1,200,000 120,000
05 RIZERI & 3 1,320,000 1,200,000 120,000
OZ3 MgJ| Meld ety=2ot Hols ™el
220,000& *4,000= 880,000
O=s& 428 X2 XMel
220,000& x1,000& 220,000
OMES XY =MD Hel
220,000& x1,000& 220,000
308 A EHHSOIA 205,000 195,000 10,000
07 IXNHMAR S = 205,000 195,000 10,000
OMEHIIE Mz FES 205,000
o AZMI| RE= 10,000& 16,000 160,000
o BHEXMedl RE3 15,000& *3,000& 45,000
401 A& HIZ 201 I 25,000 0 25,000
01 A& HI 25,000 0 25,000
O22st=2A £X 25,000,000& 25,000
405 TtakF S| 290,000 1,163,000 A 873,000
01 AL EFH S 290,000 1,163,000 A 873,000
OEAXE £ 270,000
058 MEMYI =HIZ (&)
120,000, 0002 = 1CH 120,000
058 A (A) 150,000, 0002 1CH 150,000
oMl S - EIIZ Al 0ls4 CCTV
5,000,000 =4 CH 20,000
Has AtY 565,600 608,410 242,810
101 124 dl 125,840 0 125,840
04 JIZHHZ2XREE S 125,840 0 125,840
OMES HdE QAR ASA 125,840
0 &AIQIS 130,000& »4H 222U 1104 & 125,840
201 ¢4l 72,160 68,410 3,750
01 At 2t 2l 19,344 15,594 3,750
O E==EH| 14,814
OHEE HEF 29 AR2UBE 7
979,000& 979
oTHEE HEH FHEY +42
186,250& 128 2,235
o M= 88X M|t =
390,830& x12& 4,690
OMEE HEE HYHY ZF 242
420,000& »23] 840




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - BB B () - MM - BES Ol &t o San HmEET
CNEE AZX ZPAE ZIGABN =%
=3 930,000& »23| 1,860
o M2 WIIZA 48  530,0002 13 530
0 BME 2JXY S HSHBML2E
33,000& = 10CH 330
o SAE MgJ HESE X HEE XA
OLCHALE E2HE M= 1,490,000& 1,490
o 4&5FJIXNE ZE M 186,000 <104 1,860
O2E+ 780
oRRMEE EAM =% 780,000& 780
o1 =l 3,750
o 2&2% Il=t| 250,000& »15H 3,750
02 =24l 52,816 52,816 0
OS2 HA 29,230,000& 29,230
OA=H| 5,210,000& 5,210
OA & EHl S Xl 12,530,000& 12,530
OXg& e 5,846,000 5,846
206 = Hl 24,600 18,200 6,400
01 M2 4l 24,600 18,200 6,400
ONES HEE 29 W2 2 15,600
OMEE HEH FHAP ASUE
3,000,000 3,000
o mclgdE EH 2,200,000& 2,200
o HEHE =W 2,200,000 2,200
o DEEZ 1,200, 000& 1,200
o OtA3 1,000,000 1,000
o MEE Hddetel AE2E)| EEHS
2,000,000% =14 2,000
o A4IIH Y AMEFH RUR
50,000& x40 2,000
o AAIIAH ¥ AAFH Feli
50,000& x10= 500
o YD 2 wsE 500,000& 500
0 JIARE ¥ A & 7Y 1,000,000 1,000
onMgsg d8& AJEZH SEHOAH 7
300,000& *4J1 =13 1,200
OAJIEZ0H HAY ¢ 300, 0002 *2H 600
OoAJE2H 8 7Y 200, 0002 *4 4 800
ONgs dg&gy o2 Mad (22,0t23)
1,000, 000& 1,000
OHgZ2s & AHX =HE 180,000 304 5,400
307 gl2tol & 110,000 110,000 0
05 BIZHRIE 3 110,000 110,000 0




2M: 83
M HOI=22e
Cel: MEHIsHel (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OHt=7] S HWEHJIS H™eal
220,000 500 110,000
401 Al& Bl 28I 170,000 378,000 A 208,000
01 A& HI 170,000 376,200 A 206,200
OL#HD] 2 WH 30,000,000& x27| 60,000
OIMI| 255 LA 20,000, 000& *27| 40,000
OS2 73 I A 20,000,000& 20,000
ONESsS dg9X ddet (2010 S)E+
25,000,000 »24! 50,000
405 RHoHE S HI 63,000 3,300 59,700
01 AL EZFH S 63,000 3,300 59,700
OZASAHE &F0| 3,000,000& =10CH 30,000
O=2= 2HUXA 5,000,000& =34 15,000
O=24 22N 900, 000& *20H 18,000
dsHUlY =HEAS X2 (BX) 168,324 163,068 5,256
= 16,804
< 16,804
Al 134,716
301 LPEAF 168,324 163,068 5,256
= 16,804
< 16,804
Al 134,716
12 JIEtE4 3 168,324 163,068 5,256
OZ=sHHE =A243 XA 168,324,000 168,324
= 16,804
< 16,804
Al 134,716
StESI 2 MY DI ESAE (BX) 128,571 95,714 32,857
= 90,000
< 12,857
Al 25,714
101 14 Hl 105,571 74,714 30,857
= 73,900
< 10,557
Al 21,114
04 JIZHZ2XEE 105,571 74,714 30,857
Ost22J1=H Helad 105,571,000& 105,571
= 73,900
< 10,557
Al 21,114
201 et 2,000 1,000 1,000
= 1,400
< 200
Al 400
01 At 22l 2,000 1,000 1,000




TR

2 B
PSR

52 1}
cHol: M

szl
HOI2Xeal (cho &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

Oot 2 XD+ Al 2,000,000 2,000
1,400
200
400

= N W

202 o4 Hl 3,000 0 3,000
2,100
300
600

= MW

01 SLHO I 3,000 0 3,000
Ot &I+ MelAtd 3,000,000 3,000
2,100

300
600

= M W

307 21201 & 18,000 19,000 A 1,000
12,600
1,800
3,600

= M W

05 22t & =2 18,000 19,000 A 1,000
Ot 22 J1=H MelAte 18,000, 000& 18,000

12,600
1,800
3,600

=z N H

FsHblY ZSHGHE &5 ANFAMG(EX) 32,500 0 32,500
7,500
Al 25,000

W

401 AIEHIH

1
jom}
==

32,500 0 32,500

7,500
Al 25,000

H

01 A€ HI 32,500 0 32,500
OZshHblE st &5 XA
6,500,000 *5IH £ 32,500

7,500
Al 25,000

e

H

MYINRHYEHAA S2H SIS (HEAE)(EX 15,000 20,000 25,000
)

H

7,500
Al 7,500

405 TtatFH S 156,000 0 15,000

7,500
Al 7,500

t

01 AL ESFH SH 15,000 0 15,000
o2l RS Al 0S4 CCTV £ X
5,000,000 304 15,000

7,500
Al 7,500

H

alo
Jz
Mo
Pl
o
02
H0
02

2,026,677 1,882,578 144,099

N
2
e
%
M0
02
=

327,017 327,522 A 505
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2M: 83
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o EZHLE ¢ 20,000& 2001 x53] 2,000
o JIHESE 2¢ ¥ FilA 7Y
150,000& *30& 4,500
o MEE (MM S) 1,000,000& 1,000
OSAE MelAld HAR E5M 7L
50,000& *17kg* 1271 & 10,200
207 51 OH £ Hl 159,400 170,600 A 11,200
03 Al & 11HI 159,400 170,600 A 11,200
O84S MelAME FEx=HelE 4357 159,400
o=cli 3,100& *10,000kg 31,000
o &2EN 4,000& *10,000kg 40,000
o0 LFELIAAT 400& 200, 000kg 80,000
o AEAMLES 400& *21,000kg 8,400
307 glz2tol & 453,000 328,200 124,800
05 RIZHRI & 3 453,000 328,200 124,800
OSAER HII2 A (LS4 E)
150,000& *30&E * 15 67,500
OSAER HII2 AH(FL . =M)
150,000& *30&E 17 76,500
OE=3 ANl SA2SF HII2 fIEHelH]
150,000& *30& 30 135,000
OSAER HIIS X H™eldl
125,000& *100= 120 & 150,000
OE&E A (WS H LSOt HII2)
300,000& *80& 24,000
401 Al HI R 201 I 905,000 900,000 5,000
01 A& HI 899,960 894,276 5,684
OF2=S MHE3 A 500,000,000 =141 x99.28% 496,400
Oc-= AFIAMIO0NH WHBA
40,000, 000& x5 %99.28% 198,560
Oc-= HIIHZ WHZA 100,000,000 » 141 100,000
OLF & WM £ 223 A 400,000 x125m 50,000
O2cls & TN FAHAIE WA ZA
50,000,000 » 14l 50,000
Ols H2EX & 5,000,000& =14 5,000
03 Al 2 THHI 5,040 5,724 A 684
OF2sS HESA 500,000,000& 141 %0.72% 3,600
O= AJFAHIOIN WA SA
40,000, 000& *521%0.72% 1,440
405 RHoHE S HI 80,500 62,000 18,500
01 et EZFH S 80,500 62,000 18,500
SlHl Ol YsUA Y
10,000, 000& »2CH 20,000




SH 230
M HOI2He
Cel: MEHIsHel (cho &)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OscX 08 2L 2¢
8,000,000 »2CH 16,000
OSAER HIIE € EHS 237 8s2H
| 3,000,000 =6CH 18,000
OSAER HII2 0/88E 26,500
o BH= OlSEZ () 2,500,000& =54 12,500
0 SAE 0I5B (AR) 7,000,000 *2CH 14,000
& (A2E) 29 1,685,313 1,729,313 A 44,000
201 Let24E] 16,313 16,313 0
01 At2 22l H| 10,240 10,240 0
O e==EH| 2,655
o ZAMEE FCXNIASEAM £&H3 Nl
190, 000& 42| 760
oANBEEZ HEAME A2
94,7503 24 2 x102] 1,895
[ DR N E= 7,585
oMNBEZ MMEAE ==Xl X
7,585,000 7,585
02 =224l 6,073 6,073 0
O3 3BLAA 2,335,000 2,335
OA & ZEHl S Xl 3,738,000 3,738
308 A EHHSOIA 1,000,000 1,000,000 0
07 IXNHMAR S = 1,000,000 1,000,000 0
OZ9 Mg HEd ¥ 2218 2HEREES
1,000,000, 000& 1,000,000
401 Al HI K 201 I 25,000 25,000 0
01 Al 25,000 25,000 0
ONBZE RN 5+ HEZ L W2 Ha
A 5,000,000& 5,000
OSHUMNESE HEE =22l (UAAA)
20,000,000& =14 20,000
402 2I2H X201 M 644,000 688,000 A 44,000
01 212t 2 A E = (REMTH ) 644,000 688,000 A 44,000
023 HoI=2 HEAE =HISXA HLAS
(eA0ts) 344,000,000 344,000
023 HoI=2 HEAE =HISXA HLAS
(2&02) 150,000, 000& 150,000
O29 HII=S HEAE FHIASXD HEAS
(CHotots) 150,000, 000& 150,000
MEHIIS HEHSANE X AP (EX) 100,000 0 100,000
= 50,000
Al 50,000
401 AIEHI L 2 CHYI 100,000 0 100,000
< 50,000




2AM: 2F
M Hols2el
Helr MEHIISX (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Al 50,000
01 A& HI 100,000 0 100,000
OMEHIZS HAE HEANE XX
100,000, 000& 100,000
=) 50,000
Al 50,000
Hae £t Hiole Mel NE(EX) 169,048 0 169,048
=) 50,714
Al 118,334
307 21201 & 169,048 0 169,048
=) 50,714
Al 118,334
05 RIZtE = 169,048 0 169,048
ONMEE =20t HIIE M2l X& 169,048,000 169,048
= 50,714
Al 118,334
Hessuote 84X X& ME(EX) 75,000 0 75,000
= 37,500
Al 37,500
401 AIEHI L 20 75,000 0 75,000
= 37,500
Al 37,500
01 A€ HI 75,000 0 75,000
ONEgE sUlte XA 75,000,000& 75,000
- 37,500
Al 37,500
Sy 2HEAH XA (EX) 38,428 0 38,428
< 19,214
Al 19,214
301 LA F 38,428 0 38,428
< 19,214
Al 19,214
12JE 24 = 38,428 0 38,428
O=s24e18 = HEBAH NJAY 38,428,000 38,428
= 19,214
Al 19,214
Heg A (EX) 4,200 0 4,200
=) 4,200
201 L2l 1,200 0 1,200
=) 1,200
01 AFR 22l 1,200 0 1,200
OMEES =20 Az (188 &4F &
SEOt AMdEE) 1,200,000& 1,200
=) 1,200
303 Z& 3 3,000 0 3,000
=) 3,000




SN B
M HOI=22e
Cel: MEHIsHel (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 Z&3 3.000 0 3,000
OBLHE YLEN 242N Zy('18H AX
StSEHIL QHEIE) 3,000,000& 3,000
< 3,000
M EH OIS 2l 1,971,601 743,846 1,227,755
= 712,520
< 127,450
Al 1,131,631
HIISAHS & 22l 114,466 54,296 60,170
201 Let249y| 28,636 10,896 17,740
01 At 22/l 19,520 9,780 9,740
O2Et==EH| 5,960
o HJIZ2 A 2te|l HFF& 1,530,000& 1,530
o HIIZ2 E&E HAt 760,000& 760
o HJI= BHEE A 2AFHB A 30,5003 *202] 610
o HJI2 ZelEY MRES 7Y
1,530, 000& 1,530
o &F ZULIHEZE AAE FZHA
1,530, 000& 1,530
O1l =l 900
o HJII2 MelgH &= 900,000 900
O=&l 1,530
o HJII2 RY FIHtE FRFX
1,530,000 1,530
[ DN = 11,130
o HJI= OHE =tol ZHl &X 1,530,000& 1,530
0OSEANBTE LA AP X AT
800,000& 1201 & 9,600
02 3323l 9,116 1,116 8,000
OAN&EHl S Xl 6,116
o &4F ZLIHE AMAE SX2el
93,000& 1271 & 1,116
o &H ZLUIHE MM HiEcl Wi
1,000, 000& *5H 5,000
OX e (AP 2 XHE) 3,000,000 3,000
202 04 Hl 1,330 1,400 AT0
01 = LH YI 1,330 1,400 AT0
OMSE HIIS2e HRFA 1,330,000& 1,330
206 M= Hl 4,500 2,000 2,500
01 =8l 4,500 2,000 2,500
OAMZZ HII2 =2IA M==Y 7
5,000& 2004 1,000
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0 =2 HIEAIE &5 2 8J2F AL
LHEY =l 990,000 990
0 BMEL DU PET AANELR
48,180& »203l 964
oIl =4l 1,200
0 N=E2L HHEANE HEE 1,200,000 1,200
0=t 4,600
o F#EEE FRFA 1,980,000 1,980
o x=E28 LYHIAY S SZ2S AKX
1,340,000 1,340
0 N=EEhL HHESAIE OF2E= 690,000& 690
o BMHA ZHIY L RF =0l
590,000& 590
[ DR b= 142,440
o @AMEH OlsstEA AX 4,950,000 4,950
o NEAHA=H OlsSst&A AXt
135,500, 000& 135,500
o =2 ¥ XMel&d ¥X 1,990,000 1,990
02 =24l 13,803 13,803 0
OS=2=2 A A 6,877,000 6,877
OAEZHI S 2,561,000& 2,561
OXHE & B 4,365,000 4,365
03 A2 Z Hl 1,000 1,000 0
ONAH 22 & @A 1,000, 000& 1,000
202 044l 3,420 3,600 A 180
01 SLHOYI 3,420 3,600 A 180
COotd & 2F 22| HRFA 3,420,000 3,420
206 M= Hl 15,750 12,800 2,950
01 =8l 15,750 12,800 2,950
O3Z3 &Y 452435 7¢ 1,000,000& 1,000
O elot=XelAlE & ofd =ZAAME M=
g 2 2,500& 2004 500
OSZ M HHEE 2 9,500,000 9,500
OANE MH 28I 7 4,750,000 4,750
207 A O H] 42,000 20,000 22,000
01 289 42,000 20,000 22,000
020208 HHIMEAE =Z2ZAL & Z2LIHE
29 20,000,000& 20,000
OJISASHEXNS NEEH HIDA S
22,000,000& 22,000
401 A& HIZ 201 I 8,000 8,000 0
01 A& HI 7,914 7,914 0
O23azd sX2el 7,914,000 7,914
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ORI FEFE L ZTHI| X 30,000,000 30,000
Saed XNE(BEx) 60,000 60,000 0
= 12,000
Al 48,000
307 21201 A 30,000 30,000 0
< 6,000
Al 24,000
02 IZHE S AHE L 30,000 30,000 0
OAZE SJAANY 30,000, 000& 30,000
= 6,000
Al 24,000
401 Al HIZ 201 8] 30,000 30,000 0
< 6,000
Al 24,000
01 A& HI 29,676 29,676 0
OAE SN 30,000,000& *98.92% 29,676
= 5,935
Al 23,741
03 Al 2 0HHI 324 324 0
OAEE SIAANY 30,000,000& *1.08% 324
< 65
Al 259
SZZA F=A 71,184 68,460 2,724
101 @144 dl 52,500 50,220 2,280
04 DIt Z2XREE S 52,500 50,220 2,280
Og8Z+8 Z8X9 sX2el
100,000 *5H x 15«73 52,500
201 L2l 8,264 8,824 A 560
01 At 22l 8,264 8,824 A 560
OEETRSEY] 4,415
0o BALYN RN YLEX
3,755,000& 3,755
0 EELZA HEES ¢ 660,000& 660
O= &l 1,784
o LAl HEFA 844 ,000& 844
0 IIEEL ZALHEZX(0F2HFY)
940,000& 940
O Xtz 2,065
o A8 HEI ¥ MaKES &bl
516, 2503 *4H 2,065
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= 133,000
Al 311,000
401 AIEHIZ 2 OH Yl 444,000 416,000 28,000
< 133,000
Al 311,000
01 A& HI 440,804 413,005 27,799
OMEISRYE SHASA 2
444,000,000& %99.28% 440,804
< 132,042
Al 308,762
03 Al S THHI 3,196 2,995 201
OMEISRYE SHASA 2
444 ,000,000& *0.7198% 3,196
< 958
Al 2,238
DIME UHSEAAE S X (2X) 141,100 230,000 88,900
< 41,500
Al 99,600
402 DI2HX 20| & 141,100 230,000 88,900
< 41,500
Al 99,600
02 QI 2 AL EZ (01 XS ) 141,100 230,000 88,900
O0lME NSEAAE £X 141,100, 000& 141,100
= 41,500
Al 99,600
HIEQQAMLAE (BEX) 1,550,000 52,857 1,497,143
= 1,085,000
Al 465,000
401 AlEHI R 2 OhYI 910,613 52,857 857,756
2 637,629
Al 272,984
01 A& HI 904,654 52,382 852,272
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246,700,000& *99.28% 244,924
= 171,447
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Al 533
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= 2,929
Al 1,254
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= 447,371
Al 192,016
02 SO 2SOICHeH 2R 2 E A I 639,387 0 639,387
OSXY dFel AZsX ZEAY
99,300,000 99,300
= 69,310
Al 29,990
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480,087,000 480,087
= 336,061
Al 144,026
OE s U35 ZEAMY 60,000,000& 60,000
= 42,000
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AFHILHE(MNEMFAEX S)EXAMSE(BEX) 150,000 150,000 0
= 45,000
Al 105,000
405 TtakF S| 150,000 0 150,000
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Al 105,000
01 AL EFH S 150,000 0 150,000
Ols AdFHZEZI £ =EH ALY ASMY
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< 45,000
Al 105,000
SE QLI YR ALY 4,606,804 4,262,471 344,333
BZIIZAL QUtRE 29 4,606,804 4,262,471 344,333
201 L2l 3,070 10,965 NT,895
01 At 22l 3,070 10,965 AT,895
OB ==EH| 1,175
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225,000 225
O= &l 1,895
o EZIIEANE HRFX 1,895,000 1,895
202 o4 Hl 1,710 1,800 A 90
01 = LHA YI 1,710 1,800 A 90
OSFI=ZANE NEBH g2 S =
1,710,000 1,710
307 21201 A 4,076,616 3,830,522 246,094
05 BIZHRI & 3 4,076,616 3,830,522 246,094
O=2= XMelAd AE= 804,384,000 804,384
OJI=E=2x HMelAlE |2 3,272,232,000& 3,272,232
401 AIEBIZ 201 8I 523,000 310,000 213,000
01 A& Bl 519,235 307,606 211,629
O XMelAld EHE &
180,000,000 *99. 28% 178,704
Od JIZANE HEEZ & Ex=ZA
343,000,000 *99. 28% 340,531
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O XMelAld EHE &
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Od JIZANE HEEZ & Ex=ZA
343,000,000& *0.7198% 2,469
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O==Xel Hd#nFzs  1,720& 14,000 *10% 2,408
HY2IAU (F ) 54,720 40,200 14,520
Jl2Zd(8Z ) 54,720 40,200 14,520
Jl2ddl (& m) 54,720 40,200 14,520
202 odl 45,600 31,200 14,400
01 = LH o4 1l 45,600 31,200 14,400
OZE=Z 0 100,000& 38 »12& 45,600
203 PR =&l 9,120 9,000 120
04 ENSI LRI 9,120 9,000 120
o=z 760,000& x12& 9,120




